MAT1275 Prof Kan
Review Sheet Exam 1

Simplify Completely

1 ( 7a3h=5 )‘3 , ( g8x~4y6 )2
) 3a= b3 ) 5x~10y—=5
2 3 9 1
R — J— + —
-6 b2 " b
)73 4) 8T _
xX—6 X b2
5) 8xy?/180x37y12723 6) —5a°bc*V117al6h*9c81
27ab 2x3
7) 100q10 ) 18x1°
Solve the equation. For 11) and 12), check your answer.
9)3x2—x—-10=0 10) 2x2+17x+30=0
23 36 32
1) —— =—2 1) 2% 324 — _
x+5  x2+5x x x-9 x2-9x

Perform the indicated operation and express your answer in simplest form.

x+3 x%—4 4x-7 | 3—-x
13) * — 14) —
5x+20 x“+5x+6 3x+6  x+2
x2-5x—6 _ x?-3x—4 X+5  26x-24
15) + 16) - =
5x+15 7x+21 xX—6 x“—36
17) V8x(V5x3 — 9v20x3) 18) V2(3vV6 + 10v24)
19) (6 +V3)(6 —V3) 20) (3V12 — 2v3)(V2 + V3)

Translate to radical notation, then evaluate.

5
21) —262144z 22) 2187



